
Student Exam No:'

GANPAT T]NTVERSITY
B.TECH SEM-Irr (ELECTRTCAL)

REGULAR EXAMINATION DEC-2013
2EE3O4: ELECTRICAL MEASURMENT AND MEASURING

INSTRUMENT

Time: 3 Hours

Instructions: - l. Attempt all questions.
2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks'

Total Marks:-70

SECTION-l

Q:l (A) why is a deflecting torque necessary in an indicating instrument? Name the (06)

instruments which are based on different methods of producing deflecting torque.

(B) Explain the constructional features of flux meter. And Show that for a flux meter (06)

N0=K(0r-01) 
oR

Q:r (A) A 1000/5 A,50 Hz cunent transformer has secondary burden comprising a non- (06)

inductive impedance of 1.60. The primary winding has one tum' Calculate the flux in

the core and ratio error at full load. Neglect leakage reactance and assume the iron loss

in the core to be 1.5 W at full load. The magnetizing mmf is 100 A'

(B)

Q:2 (A)

(B)

Q:2 (A)
(B)

Q:3
(A)

Write a short on on PMMC.

Derive the balance equation for De'sauty's bridge for capacitance measurement with (06)

(06)

suitable diagram.
A balanced lkhz bridge has the following configuration:
Arm AB: R1:1000O in parallel with C1=0.053 pf; R2:1500 f) in series with

C2=0.53pF; CD: the unknown, DA: pure capacitance= 0'265pF
Determine R and L constants of unknown. Draw the phasor diagram of the bridge at

above frequency.

OR
State the reason why cunent transformer must never be operated on open circuit. (06)

Draw a connection diagram of Crompton potentiometer and bring out its salient (05)

featwes.

Attempt any Two: (2)

Explain the working of single phase electrodynamometer type power factor meter with

neat diagram.
Draw a- connection diagram of crompton potentiometer and bring out its salient

(0s)

(B)

(c)
reatures.
Distinguish between the direct and indirect methods of measurement'

support your answer.
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Q:4

Q:4

SECTION-II

(A) Using expression for torque in single phase induction g*e energy meter, show that the
llgr].JfJil:ljlon' 

-ude uv lt' ail' J*ile?o*.t* time is proportional to the
6n) Three identical impedanc-es,. each of 3-j4 0hms are connected in star across a 3-phase400 v' 50 Hz suoply..A wattmeter is rt**,.a with its current coil in rine y.

ffjllff $r: 
wattmeter readine. *tr;;;;;;;;"coil ts cannected auoss((i)y and R

(A) Describe the constuctional aquii, oruo .Slrodynamometer type wattmeter. Derivethe expression for torque when the 1"._r,*;;;il;ff'on a.c. suppty?

(06)

(06)

(06)

(B)
Q:s (A)

(B)

Explai.n the ac bridge method for measurement of iron losses.Give the analogy benveen CT & pT

230 v' l'ph energy-meter to load c'nent ofa 4 A, passing through it for 5 hours atunity power factor. If the meter makes 1104 revoluiion driing this period. what is themerer constant in revrkwh. If the load power factor is of 0.g.whatnos of revolutions thedisc will make in above time.

State and explain the firnctions or.iruaiog?*a *d driving magner.Whatispotentiometer?DiscusstheprinciptJonr - *'* *""'e

Describe carey-Foster's slide wire bridge for the measurement of medium resistance.A wattmeter with its current coil i".ru.-n *a pt"rr,riioii"..o., y and B reads 3.2
5.y3lp1*"ed.load on 0.6tagcinc p.l. t{ il;l;#; is 400 v. determinecurenl, power and reactive vott amp 6ime load.-.-, 

'-'*"'

(06)
(06)

(0s)

Qr5 (A)
(B)

(A)
(B)

Q:6

(06)
(0s)

(06)
(06)

END OFPAPER
Best ofluck

Page 2 of z

gn
u.

inf
lib

ne
t.a

c.i
n


